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Formulas For MC reduced cross section



Notes from last week 

A log uniform binning should work for Q^2, but also maybe for the other two 
variables.

In principle the bin width should be 3-5 times the bin by bin resolution to minimize 
the bin migration.

I don’t have an answer for the events with x_Pom near 1.

To Do: Acceptance correction, efficiency, purity for the recon. xsection



binnings

Inspired by ZEUS, 







Next, checking the values(?)
Bin-wise d^3σ/dQ² dβ dx_Pom [pb/GeV²]:

Bin (Q²: 6.2, β: 0.100, x_Pom: 0.0122): xPom*σ_red = 0.0013  ± 0.0001

Bin (Q²: 6.2, β: 0.100, x_Pom: 0.0550): xPom*σ_red = 0.0066  ± 0.0001

Bin (Q²: 6.2, β: 0.100, x_Pom: 0.1450): xPom*σ_red = 0.0066  ± 0.0001

Bin (Q²: 6.2, β: 0.300, x_Pom: 0.0027): xPom*σ_red = 0.0000  ± 0.0000

Bin (Q²: 6.2, β: 0.300, x_Pom: 0.0122): xPom*σ_red = 0.0188  ± 0.0003

Bin (Q²: 6.2, β: 0.300, x_Pom: 0.0550): xPom*σ_red = 0.0176  ± 0.0002

Bin (Q²: 6.2, β: 0.300, x_Pom: 0.1450): xPom*σ_red = 0.0030  ± 0.0001

Bin (Q²: 6.2, β: 0.500, x_Pom: 0.0027): xPom*σ_red = 0.0060  ± 0.0003

Bin (Q²: 6.2, β: 0.500, x_Pom: 0.0122): xPom*σ_red = 0.0357  ± 0.0005

Bin (Q²: 6.2, β: 0.500, x_Pom: 0.0550): xPom*σ_red = 0.0208  ± 0.0003

Bin (Q²: 6.2, β: 0.650, x_Pom: 0.0027): xPom*σ_red = 0.0179  ± 0.0007

Bin (Q²: 6.2, β: 0.650, x_Pom: 0.0122): xPom*σ_red = 0.0391  ± 0.0008

Bin (Q²: 6.2, β: 0.650, x_Pom: 0.0550): xPom*σ_red = 0.0164  ± 0.0005

Bin (Q²: 6.2, β: 0.750, x_Pom: 0.0027): xPom*σ_red = 0.0209  ± 0.0008

Bin (Q²: 6.2, β: 0.750, x_Pom: 0.0122): xPom*σ_red = 0.0312  ± 0.0008

Bin (Q²: 6.2, β: 0.750, x_Pom: 0.0550): xPom*σ_red = 0.0111  ± 0.0004

Bin (Q²: 6.2, β: 0.850, x_Pom: 0.0027): xPom*σ_red = 0.0142  ± 0.0007

Bin (Q²: 6.2, β: 0.850, x_Pom: 0.0122): xPom*σ_red = 0.0201  ± 0.0007

Bin (Q²: 6.2, β: 0.850, x_Pom: 0.0550): xPom*σ_red = 0.0054  ± 0.0003

Bin (Q²: 9.5, β: 0.100, x_Pom: 0.0122): xPom*σ_red = 0.0002  ± 0.0000

Bin (Q²: 9.5, β: 0.100, x_Pom: 0.0550): xPom*σ_red = 0.0067  ± 0.0001

Bin (Q²: 9.5, β: 0.100, x_Pom: 0.1450): xPom*σ_red = 0.0078  ± 0.0002

Bin (Q²: 9.5, β: 0.300, x_Pom: 0.0122): xPom*σ_red = 0.0141  ± 0.0003

Bin (Q²: 9.5, β: 0.300, x_Pom: 0.0550): xPom*σ_red = 0.0203  ± 0.0003

Bin (Q²: 9.5, β: 0.300, x_Pom: 0.1450): xPom*σ_red = 0.0090  ± 0.0003

Bin (Q²: 9.5, β: 0.500, x_Pom: 0.0027): xPom*σ_red = 0.0001  ± 0.0000

Bin (Q²: 9.5, β: 0.500, x_Pom: 0.0122): xPom*σ_red = 0.0307  ± 0.0006

Bin (Q²: 9.5, β: 0.500, x_Pom: 0.0550): xPom*σ_red = 0.0259  ± 0.0005

Bin (Q²: 9.5, β: 0.500, x_Pom: 0.1450): xPom*σ_red = 0.0025  ± 0.0002

Bin (Q²: 9.5, β: 0.650, x_Pom: 0.0027): xPom*σ_red = 0.0023  ± 0.0003

Bin (Q²: 9.5, β: 0.650, x_Pom: 0.0122): xPom*σ_red = 0.0385  ± 0.0010

Bin (Q²: 9.5, β: 0.650, x_Pom: 0.0550): xPom*σ_red = 0.0254  ± 0.0007

Bin (Q²: 9.5, β: 0.750, x_Pom: 0.0027): xPom*σ_red = 0.0061  ± 0.0005

Bin (Q²: 9.5, β: 0.750, x_Pom: 0.0122): xPom*σ_red = 0.0357  ± 0.0010

Bin (Q²: 9.5, β: 0.750, x_Pom: 0.0550): xPom*σ_red = 0.0200  ± 0.0007

Bin (Q²: 9.5, β: 0.850, x_Pom: 0.0027): xPom*σ_red = 0.0073  ± 0.0006

Bin (Q²: 9.5, β: 0.850, x_Pom: 0.0122): xPom*σ_red = 0.0248  ± 0.0009

Bin (Q²: 9.5, β: 0.850, x_Pom: 0.0550): xPom*σ_red = 0.0124  ± 0.0006

Bin (Q²: 14.5, β: 0.100, x_Pom: 0.0550): xPom*σ_red = 0.0058  ± 0.0002

Bin (Q²: 14.5, β: 0.100, x_Pom: 0.1450): xPom*σ_red = 0.0082  ± 0.0002

Bin (Q²: 14.5, β: 0.300, x_Pom: 0.0122): xPom*σ_red = 0.0064  ± 0.0003

Bin (Q²: 14.5, β: 0.300, x_Pom: 0.0550): xPom*σ_red = 0.0209  ± 0.0004

Bin (Q²: 14.5, β: 0.300, x_Pom: 0.1450): xPom*σ_red = 0.0138  ± 0.0004

Bin (Q²: 14.5, β: 0.500, x_Pom: 0.0122): xPom*σ_red = 0.0221  ± 0.0007

Bin (Q²: 14.5, β: 0.500, x_Pom: 0.0550): xPom*σ_red = 0.0275  ± 0.0006

Bin (Q²: 14.5, β: 0.500, x_Pom: 0.1450): xPom*σ_red = 0.0112  ± 0.0005

Bin (Q²: 14.5, β: 0.650, x_Pom: 0.0122): xPom*σ_red = 0.0316  ± 0.0012

Bin (Q²: 14.5, β: 0.650, x_Pom: 0.0550): xPom*σ_red = 0.0298  ± 0.0010

Bin (Q²: 14.5, β: 0.650, x_Pom: 0.1450): xPom*σ_red = 0.0046  ± 0.0005

Bin (Q²: 14.5, β: 0.750, x_Pom: 0.0122): xPom*σ_red = 0.0292  ± 0.0012

Bin (Q²: 14.5, β: 0.750, x_Pom: 0.0550): xPom*σ_red = 0.0254  ± 0.0010

Bin (Q²: 14.5, β: 0.750, x_Pom: 0.1450): xPom*σ_red = 0.0019  ± 0.0003

Bin (Q²: 14.5, β: 0.850, x_Pom: 0.0027): xPom*σ_red = 0.0001  ± 0.0001

Bin (Q²: 14.5, β: 0.850, x_Pom: 0.0122): xPom*σ_red = 0.0278  ± 0.0013

Bin (Q²: 14.5, β: 0.850, x_Pom: 0.0550): xPom*σ_red = 0.0184  ± 0.0009

Bin (Q²: 14.5, β: 0.850, x_Pom: 0.1450): xPom*σ_red = 0.0006  ± 0.0002

Bin (Q²: 22.0, β: 0.100, x_Pom: 0.0550): xPom*σ_red = 0.0035  ± 0.0002

Bin (Q²: 22.0, β: 0.100, x_Pom: 0.1450): xPom*σ_red = 0.0075  ± 0.0003

Bin (Q²: 22.0, β: 0.300, x_Pom: 0.0122): xPom*σ_red = 0.0007  ± 0.0001

Bin (Q²: 22.0, β: 0.300, x_Pom: 0.0550): xPom*σ_red = 0.0203  ± 0.0006

Bin (Q²: 22.0, β: 0.300, x_Pom: 0.1450): xPom*σ_red = 0.0153  ± 0.0006

Bin (Q²: 22.0, β: 0.500, x_Pom: 0.0122): xPom*σ_red = 0.0115  ± 0.0006

Bin (Q²: 22.0, β: 0.500, x_Pom: 0.0550): xPom*σ_red = 0.0289  ± 0.0008

Bin (Q²: 22.0, β: 0.500, x_Pom: 0.1450): xPom*σ_red = 0.0173  ± 0.0008

Bin (Q²: 22.0, β: 0.650, x_Pom: 0.0122): xPom*σ_red = 0.0184  ± 0.0013

Bin (Q²: 22.0, β: 0.650, x_Pom: 0.0550): xPom*σ_red = 0.0283  ± 0.0013

Bin (Q²: 22.0, β: 0.650, x_Pom: 0.1450): xPom*σ_red = 0.0156  ± 0.0011

Bin (Q²: 22.0, β: 0.750, x_Pom: 0.0122): xPom*σ_red = 0.0211  ± 0.0014

Bin (Q²: 22.0, β: 0.750, x_Pom: 0.0550): xPom*σ_red = 0.0286  ± 0.0013

Bin (Q²: 22.0, β: 0.750, x_Pom: 0.1450): xPom*σ_red = 0.0107  ± 0.0010

Bin (Q²: 22.0, β: 0.850, x_Pom: 0.0122): xPom*σ_red = 0.0194  ± 0.0014

Bin (Q²: 22.0, β: 0.850, x_Pom: 0.0550): xPom*σ_red = 0.0208  ± 0.0012

Bin (Q²: 22.0, β: 0.850, x_Pom: 0.1450): xPom*σ_red = 0.0064  ± 0.0008

Bin (Q²: 33.2, β: 0.100, x_Pom: 0.0550): xPom*σ_red = 0.0009  ± 0.0001

Bin (Q²: 33.2, β: 0.100, x_Pom: 0.1450): xPom*σ_red = 0.0064  ± 0.0003

Bin (Q²: 33.2, β: 0.300, x_Pom: 0.0550): xPom*σ_red = 0.0157  ± 0.0006

Bin (Q²: 33.2, β: 0.300, x_Pom: 0.1450): xPom*σ_red = 0.0166  ± 0.0008

Bin (Q²: 33.2, β: 0.500, x_Pom: 0.0122): xPom*σ_red = 0.0014  ± 0.0003

Bin (Q²: 33.2, β: 0.500, x_Pom: 0.0550): xPom*σ_red = 0.0280  ± 0.0010

Bin (Q²: 33.2, β: 0.500, x_Pom: 0.1450): xPom*σ_red = 0.0185  ± 0.0010

Bin (Q²: 33.2, β: 0.650, x_Pom: 0.0122): xPom*σ_red = 0.0085  ± 0.0011

Bin (Q²: 33.2, β: 0.650, x_Pom: 0.0550): xPom*σ_red = 0.0296  ± 0.0016

Bin (Q²: 33.2, β: 0.650, x_Pom: 0.1450): xPom*σ_red = 0.0217  ± 0.0017

Bin (Q²: 33.2, β: 0.750, x_Pom: 0.0122): xPom*σ_red = 0.0101  ± 0.0013

Bin (Q²: 33.2, β: 0.750, x_Pom: 0.0550): xPom*σ_red = 0.0274  ± 0.0017

Bin (Q²: 33.2, β: 0.750, x_Pom: 0.1450): xPom*σ_red = 0.0189  ± 0.0017

Bin (Q²: 33.2, β: 0.850, x_Pom: 0.0122): xPom*σ_red = 0.0172  ± 0.0018

Bin (Q²: 33.2, β: 0.850, x_Pom: 0.0550): xPom*σ_red = 0.0220  ± 0.0016

Bin (Q²: 33.2, β: 0.850, x_Pom: 0.1450): xPom*σ_red = 0.0132  ± 0.0015


